Big Exam #5 /4

1) The system at right has a low friction pulley, a ligh string and a horizontal, 1kg
smooth, slippery surface. [7
e The tension in the string holding the 250 g mass. What do you know
about this tension? Is it <, =,> 2.5 N? How do you know?
e What would happen to the tension in the string if there was
significant friction between the 1 kg mass and the surface? :
e What would happen to the tension in the string if the horizontal surface was instead slightly inclined,
such that the right side was lower than the left side? How do you know? What lens did you use? -
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2) Irelease the system at right from rest with the 100 g mass 1 m above the
floor. The thin string slides over a smooth bearing. ‘
e Please find the speed of the 0.9 kg mass when the 100 g mass /]
hits the floor.
e Using this information or by some other means, please find the
time to fall, the acceleration of the hanging mass as it falls, and
the tension in the string. {1
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